$\frac{F A S C I C U L I M A T H E M A T I C I}{Nr 47}$

R.K. VATS, S. KUMAR AND V. SIHAG

FIXED POINT THEOREMS IN COMPLETE G-METRIC SPACE

ABSTRACT. In this paper, we prove some fixed point theorems in complete G-metric space for self mapping satisfying various contractive conditions. We also discuss that these mappings are G-continuous on such a fixed point.

KEY WORDS: G-metric spaces, fixed point.

AMS Mathematics Subject Classification: 47H10, 54H25.

1. Introduction

In 1984, Dhage [1] introduced the concept of *D*-metric space. The situation for a *D*-metric space is quite different from 2-metric spaces. Geometrically, a *D*-metric D(x, y, z) represent the perimeter of the triangle with vertices x, y and z in \mathbb{R}^2 . Recently, Mustafa and Sims [2] showed that most of the results concerning Dhage's *D*-metric spaces are invalid. Therefore, they introduced a improved version of the generalized metric space structure, which they called it as *G*-metric spaces, one can refer to the papers [3]-[6].

Now, we give preliminaries and basic definitions which are used throughout the paper.

In 2004, Mustafa and Sims [3] introduced the concept of G-metric spaces as follows:

Definition 1 ([3]). Let X be a nonempty set, and let, $G : X \times X \times X \rightarrow R^+$ be a function satisfying the following axioms:

 $(G_1) G(x, y, z) = 0$ if x = y = z,

 (G_2) 0 < G(x, x, y), for all $x, y \in X$ with $x \neq y$,

 (G_3) $G(x, x, y) \leq G(x, y, z)$, for all $x, y, z \in X$ with $z \neq y$,

 (G_4) $G(x, y, z) = G(x, z, y) = G(y, z, x) = \cdots$ (symmetry in all three variables),

 (G_5) G(x, y, z) = G(x, a, a) + G(a, y, z) for all $x, y, z, a \in X$, (rectangle inequality)

then the function G is called a generalized metric, or, more specifically a G-metric on X and the pair (X,G) is called a G-metric space.

Definition 2 ([5]). Let (X,G) be a *G*-metric space and let $\{x_n\}$ be a sequence of points in X, a point x in X is said to be the limit of the sequence $\{x_n\}$ if $G(x, x_n, x_m) = 0$, and one says that sequence $\{x_n\}$ is *G*-convergent to x. Thus, if $x_n \to x$ or $x_n = x$ as $n \to \infty$, in a *G*-metric space (X,G), then for each $\varepsilon > 0$, there exists a positive integer N such that $G(x, x_n, x_m) < \varepsilon$ for all $m, n \in N$.

Now, we state some results from the papers ([2]-[6]) which are helpful for proving our main results.

Proposition 1 ([5]). Let (X, G) be a *G*-metric space. Then the following are equivalent:

(i) $\{x_n\}$ is G-convergent to x,

(ii) $G(x_n, x_n, x) \to 0$ as $n \to \infty$,

- (*iii*) $G(x_n, x, x) \to 0$ as $n \to \infty$,
- (iv) $G(x_m, x_n, x) \to 0$ as $m, n \to \infty$.

Definition 3 ([4]). Let (X, G) be a *G*-metric space. A sequence $\{x_n\}$ is called *G*-Cauchy if, for each $\varepsilon > 0$, there exists a positive integer *N* such that $G(x_n, x_m, x_l) < \varepsilon$, for all $n, m, l \in N$, i.e., if $G(x_n, x_m, x_l) \to 0$ as $n, m, l \to \infty$.

Definition 4 ([4]). If (X, G) and (X', G') be two G-metric space and let $f : (X, G) \to (X', G')$ be a function, then f is said to be G-continuous at a point $x_0 \in X$ if given $\varepsilon > 0$, there exists $\delta > 0$ such that for $x, y \in$ X and $G(x_0, x, y) < \delta$ implies $G'(f(x_0), f(x), f(y)) < \varepsilon$. A function fis G-continuous at X if and only if it is G-continuous at all $x_0 \in X$ or function f is said to be G-continuous at a point $x_0 \in X$ if and only if it is G-sequentially continuous at x_0 , that is, whenever $\{x_n\}$ is G-convergent to $x_0, \{f(x_n)\}$ is G-convergent to $f(x_0)$.

Proposition 2 ([3]). Let (X, G) be a *G*-metric space. Then the function G(x, y, z) is jointly continuous in all three of its variables.

Definition 5 ([5]). A G-metric space (X,G) is called a symmetric G-metric space if G(x, y, y) = G(y, x, x) for all $x, y \in X$.

Proposition 3 ([5]). Every G-metric space (X, G) will defines a metric space (X, d_G) by

(i) $d_G(x, y) = G(x, y, y) + G(y, x, x)$ for all $x, y \in X$.

If (X,G) is a symmetric G-metric space, then

(ii) $d_G(x, y) = 2G(x, y, y)$ for all $x, y \in X$.

However, if (X, G) is not symmetric, then it follows from the G-metric properties that

(*iii*) $\frac{3}{2}G(x, y, y) \le d_G(x, y) \le 3G(x, y, y)$ for all $x, y \in X$.

Definition 6 ([4]). A G-metric space (X, G) is said to be G-complete if every G-Cauchy sequence in (X, G) is G-convergent in X.

Proposition 4 ([4]). A G-metric space (X,G) is said to be G-complete if and only if (X, d_G) is a complete metric space.

Proposition 5 ([3]). Let (X, G) be a *G*-metric space. Then, for any x, y, z, a in X, it follows that:

 $\begin{array}{l} (i) \ if \ G(x,y,z) = 0, \ then \ x = y = z, \\ (ii) \ G(x,y,z) \leq G(x,x,y) + G(x,x,z), \\ (iii) \ G(x,y,y) \leq 2G(y,x,x), \\ (iv) \ G(x,y,z) \leq G(x,a,z) + G(a,y,z), \\ (v) \ G(x,y,z) \leq \frac{2}{3}(G(x,y,a) + G(x,a,z) + G(a,y,z)), \\ (vi) \ G(x,y,z) \leq G(x,a,a) + G(y,a,a) + G(z,a,a). \end{array}$

2. Main result

We need the following Lemma to prove our main results:

Lemma 1. Let (X,G) be a G-metric space and T be a self map on X satisfying

(1)
$$G(Tx, Ty, Tz) \le qG(x, y, z)$$

for all x, y, zX, where $0 \le q < 1$, and $x_n = Tx_{n-1} = T(Tx_{n-2}) = \cdots = T^n(x_0)$, for some $x_0 \in X$, then $\{x_n\}$ is a G-Cauchy sequence in X.

Proof. Given that for some $x_0 \in X$; $T^n(x_0) = x_n$, n = 0, 1, 2, ... From (1), we have

$$G(x_n, x_{n+1}, x_{n+1}) = G(Tx_{n-1}, Tx_n, Tx_n)$$

$$\leq qG(x_{n-1}, x_n, x_n) \leq \ldots \leq q^n G(x_0, x_1, x_1).$$

Moreover, for all $n, m \in N$, n < m, by G_5 , ones obtain

$$G(x_n, x_m, x_m) \leq G(x_n, x_{n+1}, x_{n+1}) + G(x_{n+1}, x_{n+2}, x_{n+2}) + \dots + G(x_{m-1}, x_m, x_m) \leq (q^n + q^{n+1} + \dots + q^{m-1})G(x_0, x_1, x_1) = \frac{q^n}{1 - q}G(x_0, x_1, x_1).$$

Proceeding limit as $n, m \to \infty$, we have

$$G(x_n, x_m, x_m) = 0.$$

Thus, $\{x_n\}$ is a *G*-Cauchy sequence in *X*.

Theorem 1. Let (X, G) be a complete G-metric space and $T : X \to X$ be the mapping satisfying the following :

$$\begin{array}{ll} (2) & G(T(x),T(y),T(z)) \\ & = k \max \left\{ \begin{array}{l} G(x,T(x),T(x)),G(x,T(y),T(y)),G(x,T(z),T(z)), \\ G(y,T(y),T(y)),G(y,T(x),T(x)),G(y,T(z),T(z)), \\ G(z,T(z),T(z)),G(z,T(x),T(x)),G(z,T(y),T(y)) \end{array} \right\} \end{array}$$

for all $x, y, z \in X$, where $0 \le k < \frac{1}{2}$, then T has a unique fixed point and T is G-continuous at the fixed point.

Proof. Suppose T satisfy condition (2) and $x_0 \in X$ be an arbitrary point **Step 1.** We inductively construct the sequence $\{x_n\}$ of point in X as:

$$x_{1} = T(x_{0})$$

$$x_{2} = T(x_{1}) = T(T(x_{0})) = T^{2}(x_{0})$$

$$x_{3} = T(x_{2}) = T(T^{2}(x_{0})) = T^{3}(x_{0})$$

$$\vdots$$

$$x_{n} = T(x_{n-1}) = T(T^{n-1}(x_{0})) = T^{n}(x_{0})$$

Clearly $\{x_n\}$ is a sequence of images of x_0 , under repeated application of T.

Step 2. $\{x_n\}$ is a *G*-Cauchy sequence in *X*. Assume $x_n \neq x_{n+1}$ for all *n*. Since if there exist an *n* such that $x_n = x_{n+1}$ then, $T^n(x_0) = T(T^n(x_0))$, yields $T^n(x_0)$ is a fixed point.

Therefore, by using (2), we have

$$(3) \quad G(x_n, x_{n+1}, x_{n+1}) \\ \leq k \max \begin{cases} G(x_{n-1}, x_n, x_n), G(x_{n-1}, x_{n+1}, x_{n+1}), G(x_{n-1}, x_{n+1}, x_{n+1}), \\ G(x_n, x_{n+1}, x_{n+1}), G(x_n, x_n, x_n), G(x_n, x_{n+1}, x_{n+1}), \\ G(x_n, x_{n+1}, x_{n+1}), G(x_n, x_n, x_n), G(x_n, x_{n+1}, x_{n+1}) \\ = k \max\{G(x_{n-1}, x_n, x_n)G, (x_{n-1}, x_{n+1}, x_{n+1}), G(x_n, x_{n+1}, x_{n+1})\}. \end{cases}$$

Case 1. If

$$\max\{G(x_{n-1}, x_n, x_n), G(x_{n-1}, x_{n+1}, x_{n+1}), G(x_n, x_{n+1}, x_{n+1})\} = G(x_{n-1}, x_n, x_n)$$

then, using (3), we get

$$G(x_n, x_{n+1}, x_{n+1}) \le kG(x_{n-1}, x_n, x_n),$$

thus by Lemma 1, we have $\{x_n\}$ is a G-Cauchy sequence in X.

Case 2. If

$$\max\{G(x_{n-1}, x_n, x_n), G(x_{n-1}, x_{n+1}, x_{n+1}), G(x_n, x_{n+1}, x_{n+1})\} = G(x_{n-1}, x_{n+1}, x_{n+1})$$

then, from (3) and using G_5 of Definition 1.1, ones obtain

$$G(x_n, x_{n+1}, x_{n+1}) \leq kG(x_{n-1}, x_{n+1}, x_{n+1})$$

$$\leq k\{G(x_{n-1}, x_n, x_n) + G(x_n, x_{n+1}, x_{n+1})\},\$$

this implies that

$$G(x_n, x_{n+1}, x_{n+1}) \le \frac{k}{1-k} G(x_{n-1}, x_n, x_n)$$

$$G(x_n, x_{n+1}, x_{n+1}) \le q G(x_{n-1}, x_n, x_n),$$

where $q = \frac{k}{1-k}, q < 1$ as $0 \le k < \frac{1}{2}$.

Thus again by Lemma 1, we have $\{x_n\}$ is a G-Cauchy sequence in X.

Case 3. Finally, if

$$\max\{G(x_{n-1}, x_n, x_n), G(x_{n-1}, x_{n+1}, x_{n+1}), G(x_n, x_{n+1}, x_{n+1}) \\= G(x_n, x_{n+1}, x_{n+1}) \\G(x_n, x_{n+1}, x_{n+1}) \le kG(x_n, x_{n+1}, x_{n+1}),$$

which is a contradiction, as $k < \frac{1}{2}$.

Hence in all cases the sequence $\{x_n\}$ is a G-Cauchy sequence.

Step 3. Since (X, G) is a complete *G*-metric space, by definition, there exists $u \in X$ such that $x_n \to u$.

Step 4. u is a fixed point of T. Suppose, if possible, that $T(u) \neq u$, using (3), we have

$$\begin{aligned} &(4) \quad G(x_n, T(u), T(u)) \\ &\leq k \max \left\{ \begin{aligned} &G(x_{n-1}, x_n, x_n), G(x_{n-1}, T(u), T(u)), G(x_{n-1}, T(u), T(u)), \\ &G(u, T(u), T(u)), G(u, x_n, x_n), G(u, T(u), T(u)), \\ &G(u, T(u), T(u)), G(u, x_n, x_n), G(u, T(u), (u)) \end{aligned} \right\} \\ &= k \max \left\{ \begin{aligned} &G(x_{n-1}, x_n, x_n), G(x_{n-1}, T(u), T(u)), \\ &G(u, x_n, x_n), G(u, T(u), T(u)), \end{aligned} \right\}. \end{aligned}$$

Taking the limit as $n \to \infty$, and using the fact that function G is continuous on its variable, we obtain

$$G(u, T(u), T(u)) \le kG(u, T(u), T(u)),$$

which arises a contradiction, since, $0 \le k < \frac{1}{2}$.

Hence, T(u) = u, i.e., u is a fixed point of T.

Step 5. Uniqueness of fixed point u of T.

Suppose that, $v \ (\neq u)$ is another fixed point of T, such that T(v) = v, then from (2), we have

$$G(u, v, v) \leq k \max \begin{cases} G(u, u, u), & G(u, v, v), & G(u, v, v), \\ G(v, v, v), & G(v, u, u), & G(v, v, v), \\ G(v, v, v), & G(v, u, u), & G(v, v, v) \end{cases}$$

= $k \max\{G(u, v, v), G(v, u, u)\}$

which reduces to,

(5)
$$G(u, v, v) \le kG(v, u, u).$$

Again by same argument we will find

(6)
$$G(v, u, u) \le kG(u, v, v)$$

which, by repeated use of (5) and (6), implies

$$G(v, u, u) \le k^2 G(v, u, u) \le \dots \le k^n G(v, u, u)$$
.

Proceeding limit as $n \to \infty$, we have u = v, i.e., u is a unique fixed point of T.

Step 6. T is G-continuous at the fixed point u.

Let $\{y_n\}$ be any sequence in X, such that $\lim_{n \to \infty} y_n = u$, then, by (2), we obtain

$$\begin{split} &G(T(y_n), T(u), T(y_n)) \\ &\leq k \max \begin{cases} G(y_n, T(y_n), T(y_n)), G(y_n, T(u), T(u)), G(y_n, T(y_n), T(y_n)), \\ G(u, T(u), T(u)), G(u, T(y_n), T(y_n)), G(u, T(y_n), T(y_n)), \\ G(y_n, T(y_n), T(y_n)), G(y_n, T(y_n), T(y_n)), G(y_n, T(u), T(u)) \end{cases} \\ &= k \max \begin{cases} G(y_n, T(y_n), T(y_n)), G(y_n, T(u), T(u)), \\ G(u, T(u), T(u)), G(u, T(y_n), T(y_n)) \end{cases} \\ \end{split}$$

This deduces to

(7)
$$G(T(y_n), u, T(y_n))$$

$$\leq k \max\{G(y_n, T(y_n), T(y_n)), G(y_n, u, u), G(u, T(y_n), T(y_n))\}$$

$$= k \max\{G(y_n, T(y_n), T(y_n)), G(y_n, u, u)\}.$$

Proceeding the limit as $n \to \infty$, we have, $G(u, T(y_n), T(y_n)) \to 0$, and so by definition of *G*-continuity of *G*-metric space (X, G) we have $T(y_n) \to u = T(u)$, this implies that *T* is *G*-continuous at *u*.

Hence completes the theorem.

Remark 1. If the *G*-metric space is bounded, i.e., for some m > 0, we have $G(x, y, z) \leq m$, for all $x, y, z \in X$, then an argument similar to that used above establishes the result for $0 \leq k < 1$.

Corollary 1. Let (X,G) be a complete G-metric space and let $T: X \to X$ be the mapping which satisfy the following condition for $m \in N$ and for all $x, y, z \in X$:

$$(8) \quad G(T^{m}(x), T^{m}(y), T^{m}(z)) \leq k \\ \times \max \begin{cases} G(x, T^{m}(x), T^{m}(x)), G(x, T^{m}(y), T^{m}(y)), G(x, T^{m}(z), T^{m}(z)), \\ G(y, T^{m}(y), T^{m}(y)), G(y, T^{m}(x), T^{m}(x)), G(y, T^{m}(z), T^{m}(z)), \\ G(z, T^{m}(z), T^{m}(z)), G(z, T^{m}(x), T^{m}(x)), G(z, T^{m}(y), T^{m}(y)) \end{cases} \end{cases}$$

where $0 \le k < \frac{1}{2}$, then T has unique fixed point (say) u and T^m is G-continuous at u.

Proof. Using Theorem 1, ones obtain, T^m has a unique fixed point (say) u, that is, $T^m(u) = u$ and T^m is G-continuous at u. But $T(u) = T(T^m(u)) = T^{m+1}(u) = T^m(T(u))$, so T(u) is another fixed point of T^m by uniqueness T(u) = u, i.e., u is a unique fixed point of T.

Theorem 2. Let (X, G) be complete *G*-metric space and $T : X \to X$ be the mapping satisfying the following condition:

$$(9) \quad G(T(x), T(y), T(z)) \\ \leq k \max \begin{cases} G(x, T(x), T(x)) + G(y, T(y), T(y)) + G(z, T(z), T(z)), \\ G(x, T(y), T(y)) + G(y, T(x), T(x)) + G(z, T(y), T(y)), \\ G(x, T(z), T(z)) + G(y, T(z), T(z)) + G(z, T(x), T(x)) \end{cases}$$

for all $x, y, z \in X$, where $0 \le k < \frac{1}{4}$, then T has a unique fixed point say (u) and T is a G-continuous at u.

Proof. Suppose that T satisfy condition (9) and let x_0 be any arbitrary point of X.

Step 1. We inductively construct the sequence $\{x_n\}$ of point in X as:

$$x_1 = T(x_0)$$

$$x_2 = T(x_1) = T(T(x_0)) = T^2(x_0)$$

R.K. VATS, S. KUMAR AND V. SIHAG

$$x_{3} = T(x_{2}) = T(T^{2}(x_{0})) = T^{3}(x_{0})$$

$$\vdots$$

$$x_{n} = T(x_{n-1}) = T(T^{n-1}(x_{0})) = T^{n}(x_{0})$$

Clearly $\{x_n\}$ is a sequence of images of x_0 , under repeated application of T.

Step 2. $\{x_n\}$ is a Cauchy sequence in X. Assume $x_n \neq x_{n+1}$ for all n. Since if there exist an n such that $x_n = x_{n+1}$ then, $T^n(x_0) = T(T^n(x_0))$, yields $T^n(x_0)$ is a fixed point.

By (9), we have

$$(10) \ G(x_n, x_{n+1}, x_{n+1}) \leq k \max \begin{cases} G(x_{n-1}, x_n, x_n) + G(x_n, x_{n+1}, x_{n+1}) + G(x_n, x_{n+1}, x_{n+1}), \\ G(x_{n-1}, x_{n+1}, x_{n+1}) + G(x_n, x_n, x_n) + G(x_n, x_{n+1}, x_{n+1}), \\ G(x_{n-1}, x_n, x_n) + G(x_n, x_{n+1}, x_{n+1}) + G(x_n, x_n, x_n) \end{cases}$$

$$= k \max \begin{cases} G(x_{n-1}, x_n, x_n) + 2G(x_n, x_{n+1}, x_{n+1}), \\ G(x_{n-1}, x_{n+1}, x_{n+1}) + G(x_n, x_{n+1}, x_{n+1}), \\ \end{cases}$$

Case 1. If

$$\max \begin{cases} G(x_{n-1}, x_n, x_n) + 2G(x_n, x_{n+1}, x_{n+1}), \\ G(x_{n-1}, x_{n+1}, x_{n+1}) + G(x_n, x_{n+1}, x_{n+1}) \end{cases} \\ = G(x_{n-1}, x_n, x_n) + 2G(x_n, x_{n+1}, x_{n+1}).$$

Then (10) becomes,

$$G(x_n, x_{n+1}, x_{n+1}) \le k \{ G(x_{n-1}, x_n, x_n) + 2G(x_n, x_{n+1}, x_{n+1}) \}$$

$$G(x_n, x_{n+1}, x_{n+1}) \le \left(\frac{k}{1-2k}\right) G(x_{n-1}, x_n, x_n),$$

which can be written as

$$G(x_n, x_{n+1}, x_{n+1}) \le qG(x_{n-1}, x_n, x_n),$$

where $q = \left(\frac{k}{1-2k}\right)$, and q < 1, as $0 \le k < \frac{1}{4}$. Then by Lemma 1, we have $\{x_n\}$ is a *G*-Cauchy sequence in *X*.

Case 2. If

$$\max \begin{cases} G(x_{n-1}, x_n, x_n) + 2G(x_n, x_{n+1}, x_{n+1}), \\ G(x_{n-1}, x_{n+1}, x_{n+1}) + G(x_n, x_{n+1}, x_{n+1}) \end{cases} \\ = G(x_{n-1}, x_{n+1}, x_{n+1}) + G(x_n, x_{n+1}, x_{n+1}).$$

Then (10) reduces to

(11)
$$G(x_n, x_{n+1}, x_{n+1}) \le k \{ G(x_{n-1}, x_{n+1}, x_{n+1}) + G(x_n, x_{n+1}, x_{n+1}) \}.$$

Using G_5 of Definition 1, we have

(12)
$$G(x_{n-1}, x_{n+1}, x_{n+1}) \le G(x_{n-1}, x_n, x_n) + G(x_n, x_{n+1}, x_{n+1})$$

Now (11) becomes, $G(x_n, x_{n+1}, x_{n+1}) \leq \left(\frac{k}{1-2k}\right) G(x_{n-1}, x_n, x_n)$, which can be written as

$$G(x_n, x_{n+1}, x_{n+1}) \le qG(x_{n-1}, x_n, x_n),$$

where $q = \left(\frac{k}{1-2k}\right)$, and q < 1, as $0 \le k < \frac{1}{4}$. Then again by using Lemma 1, we obtain

Then again by using Lemma 1, we obtain $\{x_n\}$ is a G-Cauchy sequence in X.

Hence in both cases $\{x_n\}$ is a *G*-Cauchy sequence in *X*.

Step 3. Since (X, G) is a complete G-metric space, by definition, there exists a point (say) $u \in X$ such that $x_n \to u$.

Step 4. u is fixed point of T, suppose, if possible, that $T(u) \neq u$, using (9), ones obtain

$$\begin{split} &G(x_n, T(u), T(u)) \\ &\leq k \max \begin{cases} G(x_{n-1}, x_n, x_n) + G(u, T(u), T(u)) + G(u, T(u), T(u)), \\ G(x_{n-1}, T(u), T(u)) + G(u, x_n, x_n) + G(u, T(u), T(u)), \\ G(x_{n-1}, T(u), T(u)) + G(u, T(u), T(u)) + G(u, x_n, x_n) \end{cases} \\ &= k \max \begin{cases} G(x_{n-1}, x_n, x_n) + 2G(u, T(u), T(u)), \\ G(x_{n-1}, T(u), T(u)) + G(u, x_n, x_n) + G(u, T(u), T(u)) \end{cases} \\ \end{split}$$

Taking the limit as $n \to \infty$, and using the fact that function G is continuous in its variable, we get

$$G(u, T(u), T(u)) \le k \max \left\{ \frac{2G(u, T(u), T(u))}{2G(u, T(u), T(u))} \right\} \le 2kG(u, T(u), T(u))$$

which is a contradiction, since $0 \le k < \frac{1}{4}$. Hence u = T(u), i.e., u is a fixed point of T.

Step 5. Uniqueness of fixed point u of T.

Suppose that $v \neq u$, such that T(v) = v, then by (9), ones obtain

$$G(u, v, v) = G(T(u), T(v), T(v))$$

$$\leq k \max \begin{cases} G(u, u, u) + G(v, v, v) + G(v, v, v)), \\ G(u, v, v) + G(v, u, u) + G(v, v, v), \\ G(u, v, v) + G(v, v, v) + G(v, u, u) \end{cases}$$

$$= k \max \{ G(u, v, v) + G(v, u, u) \}.$$

That is,

$$G(u, v, v) \le k \{ G(u, v, v) + G(v, u, u) \}.$$

This implies that

$$G(u, v, v) \le \frac{k}{1-k} G(v, u, u) \,.$$

Now, by the same argument, we have

$$G(v, u, u) \leq \frac{k}{1-k}G(u, v, v)$$

Therefore, we get

$$G(u, v, v) \le \left(\frac{k}{1-k}\right)^2 G(v, u, u),$$

but $0 \le \frac{k}{1-k} < 1$.

Hence, we reach at the contradiction, so u = v, that is, the fixed point is unique.

Step 6. Finally, to prove T is G-continuous at fixed point u. For this, let us suppose that $\{y_n\}$ be a sequence in X such that $y_n \to u$ in (X, G), now using (9), we obtain

$$\begin{aligned} &(13) \quad G(T(y_n), T(u), T(u)) \\ &\leq k \max \begin{cases} G(y_n, T(y_n), T(y_n)) + G(u, T(u), T(u)) + G(u, T(u), T(u)), \\ G(y_n, T(u), T(u)) + G(u, T(y_n), T(y_n)) + G(u, T(u), T(u)), \\ G(y_n, T(u), T(u)) + G(u, T(u), T(u)) + G(u, T(y_n), T(y_n)) \end{cases} \\ &= k \max \begin{cases} G(y_n, T(y_n), T(y_n)) + 2G(u, T(u), T(u)), \\ G(y_n, T(u), T(u)) + G(u, T(u), T(u)), \\ G(y_n, T(u), T(u)) + G(u, T(u), T(u)) + G(u, T(y_n), T(y_n)) \end{cases} \end{cases} .$$

Case 1. If

$$\max \begin{cases} G(y_n, T(y_n), T(y_n)) + 2G(u, T(u), T(u)), \\ G(y_n, T(u), T(u)) + G(u, T(u), T(u)) + G(u, T(y_n), T(y_n)) \end{cases} \\ = \{G(y_n, T(y_n), T(y_n)) + 2G(u, T(u), T(u))\}. \end{cases}$$

Then (13) becomes,

$$G(T(y_n), T(u), T(u)) \le k \{ G(y_n, T(y_n), T(y_n)) + 2G(u, T(u), T(u)) \}$$

Letting limit $n \to \infty$, and using T(u) = u, and $y_n \to u$, we get

(14)
$$G(T(y_n), u, u) \leq k \{ G(u, T(y_n), T(y_n)) + 2G(u, u, u) \}$$

= $kG(u, T(y_n), T(y_n))$.

136

By (*iii*) of Proposition 5, $G(u, T(y_n), T(y_n)) \leq 2G(T(y_n), u, u)$.

This implies (14) reduce to, $G(T(y_n), u, u) = 0$. But, $G(T(y_n), u, u) \ge 0$, hence, $G(T(y_n), u, u) = 0$. So, $T(y_n) \to u = T(u)$, which shows that T is G-continuous at the fixed point u.

Case 2. If

$$\max \begin{cases} G(y_n, T(y_n), T(y_n)) + 2G(u, T(u), T(u)), \\ G(y_n, T(u), T(u)) + G(u, T(u), T(u)) + G(u, T(y_n), T(y_n)) \end{cases} \\ = G(y_n, T(u), T(u)) + G(u, T(u), T(u)) + G(u, T(y_n), T(y_n)) \,. \end{cases}$$

Then (13) becomes,

$$G(T(y_n), T(u), T(u)) \\ \leq k \{ G(y_n, T(u), T(u)) + G(u, T(u), T(u)) + G(u, T(y_n), T(y_n)) \}.$$

Letting limit as $n \to \infty$, and using T(u) = u, we have

(15)
$$G(T(y_n), u, u) \leq k \{ G(u, u, u) + G(u, u, u) + G(u, T(y_n), T(y_n)) \}$$

= $k G(u, T(y_n), T(y_n))$.

By (*iii*) of Proposition 5, $G(u, T(y_n), T(y_n)) \leq 2G(T(y_n), u, u)$, with this (15), reduces $G(T(y_n), u, u) \leq 0$, but $G(T(y_n), u, u) \geq 0$, hence, $G(T(y_n), u, u) = 0$.

So, $T(y_n) \to u = T(u)$, which shows that T is G-continuous at the fixed point u. Therefore in both cases T is G-continuous at point u. Hence completes the theorem.

Corollary 2. Let (X,G) be a complete G-metric space and let $T: X \to X$ be the mapping which satisfy the following condition for $m \in N$ and for all $x, y, z \in X$:

$$G(T^{m}(x), T^{m}(y), T^{m}(z)) \\ \leq k \max \begin{cases} G(x, T^{m}(x), T^{m}(x)) + G(y, T^{m}(y), T^{m}(y)) + G(z, T^{m}(z), T^{m}(z)), \\ G(x, T^{m}(y), T^{m}(y)) + G(y, T^{m}(x), T^{m}(x)) + G(z, T^{m}(y), T^{m}(y)), \\ G(x, T^{m}(z), T^{m}(z)) + G(y, T^{m}(z), T^{m}(z)) + G(z, T^{m}(x), T^{m}(x)) \end{cases}$$

Where $0 \leq k < \frac{1}{4}$, then T has unique fixed point (say) u and T^m is G-continuous at u.

Proof. Using Theorem 2, ones obtain, T^m has a unique fixed point (say) u, that is, $T^m(u) = u$ and T^m is G-continuous. But $T(u) = T(T^m(u)) = T^{m+1}(u) = T^m(T(u))$, so T(u) is another fixed point of T^m by uniqueness T(u) = u, i.e., u is a fixed point of T.

Acknowledgments. The authors are very grateful to the Editor and the reviewers for their valuable suggestions. The first author is also gratefully acknowledged to Council of Scientific and Industrial Research, Government of India, for providing financial assistant under research project no - 25(0197)/11/EMR-II.

References

- DHAGE B.C., Generalized metric space and mapping with fixed point, Bull. Cal. Math. Soc., 84(1992), 329–336.
- [2] MUSTAFA Z., SIMS B., Some remarks concerning D-metric spaces, Proceedings of International Conference on Fixed Point Theory and Applications, Yokohama Publishers, Valencia Spain, July 13-19, 2004, 189-198.
- [3] MUSTAFA Z., SIMS B., A new approach to a generalized metric spaces, J. Nonlinear Convex Anal., 7(2006), 289-297.
- [4] MUSTAFA Z., SIMS B., Fixed point theorems for contractive mappings in complete G-metric spaces, Fixed Point Theory and Applications, Vol. 2009, Article ID917175, 10 pages.
- [5] MUSTAFA Z., OBIEDAT H., AWAWDEH F., Some fixed point theorems for mappings on complete G-metric spaces, Fixed Point Theory and Applications, Vol. 2008, Article ID18970, 12 pages.
- [6] MUSTAFA Z., SHATANAWI W., BATAINEH M., Existence of fixed points results in G-metric spaces, International Journal of Mathematics and Mathematical Sciences, Vol. 2009, Article ID283028 10 pages.
- [7] MUSTAFA Z., OBIEDAT H., A fixed point theorem of reich in G-metric space, Cubo a Mathematics Journal, 12(01)(2010), 83-93.
- [8] MUSTAFA Z., AWAWDEH F., SHATANAWI W., Fixed point theorem for expansive mapping in G-metric space, Int. J. Contemp Math. Sciences, 5(50)(2010), 2463-2472.
- [9] SHATANAWI W., Fixed point theorey for contractive mapping satisfying φ maps in G-metric spaces, Fixed Point Theory and Application, Vol. 2010, Article ID 181650, 9 pages.

RAMESH KUMAR VATS DEPARTMENT OF MATHEMATICS NIT, HAMIRPUR (H.P) *e-mail:* ramesh_vats@rediffmail.com

SANJAY KUMAR DEEN BANDHU CHHOTU RAM UNIVERSITY OF SCIENCE AND TECHONOLOGY MURTHAL, SONEPAT (HARYANA) *e-mail:* sanjaymudgal2004@yahoo.com VIZENDER SIHAG DEPARTMENT OF MATHEMATICS NIT, HAMIRPUR (H.P) *e-mail:* vsihag3@gmail.com

Received on 22.07.2010 and, in revised form, on 31.05.2011.